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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one sentence. ' i
(ii) Answers to questions carrying 3 marks may be from 50-75 words.
(iii) Answers to questions carrying 4-5 marks may be about 150 words.
(iv) Answers to questions carrying 5 marks may be about 200 words.
(v) Attempt all parts of a question together

Section A: Statistics

Q:1 What do you meant by study of production?

Q:2 Kshitij is employed as a HR manager in a multinationalcompany. He is a

(a) Producer

(b) Consumer

(c) Service provider

(d) Service Holder

Q:3 Give meaning of Discrete Variable with example

Q:4 The process of arranging data in a form of rows and columns is known as

(a) Textual Presentation

(b) Tabulation

(c) Diagrammatic presentation

(d) None ofthe above (1)

Q:5 What are your reasons for studying economics? (3)

Q:5 Define the word 'primary Data' with the help of example (3)

Q:7 In a city, 45 families were surveyed for the number of domestic appliances they used. Prepare a

frequency array based on their replies as recorded below

r,3,2,2,2,2,1,2,7,2,2,3,3,3,3,3,3,2,3,2,

2,6,1,6,2,7,5,1,5,3,2,4,2,7,4,2,4,3,4,2

0,3,1,4,3 (4)

Q:8 The following table shows production of rice and wheat in India during 2007-08 to 2010-11.

Present the data in a subdivided Bar diagram (4)

Year Rice Wheat Total Production

('000million

Kwts)

2007-08 46 64 110

2008-09 49 72 727

2009-10 48 82 130

2010-11 51 89 140

(1)

(1)

(1)



Q:9 The following data shows the number of cars manufactured by Maruti Ltd,Tata Motors and
Hyundai in the year of 2015-16. Represent with the help of a pie diagram

Production of cars ( in Units)
MprutiLimited 15.75,000

Tata Motorq 7.?5.000
Hvundai 5.50.000

Q:10 You want to research on the popularity of vegetables atta noodles among children.
suitable questionnaire for coilecting the information

Q:11 State Non-sampling Errors in a detail
Q:12 Jhe following distribution shows the income of 50 household

Monthly
lncome( In

Rs)

Number of Households

2000-4000 o

4000-6000 8

6000-8000 12

8000-10000 74

10000-12000 10

Total 50

on the basis of the above distribution answer the foilowing questions
(i) what wiil be the crass frequency of the foilowing groups?

(a) a000-6000 (b) 8000_10ooo
(ii) what will be the upper and lower class limits of the following groups?

(a) 2000-4000 (b) 6000_8000
(iii) what wiil be the crass intervar for the group 4000-6000?
(iv) Find the class mid-point for the following groups

(a) 8000-10000 (b) 10000_12ooo
(v) Find the relative frequency of the following groups

(a) 6000-8000 (b) 10000_12000
(vi) Find the cumulative frequency of the following groups

(a) 6000-8000 (b) 8000_10000

Q:13 Which Year is regarded as the defining year to mark the demographic transition from its first to the

(4)

Design a

(6)

(6)

(6)

second decisive stage?

Q:14 which economic system appeared to Jawaharrar Nehru
independence?

Q:15

Q:16

(1)
the most for our country at the time of

(1)what is the main difference between Birateraranit Murtiraterar trade? (1)

::::: :T 
do not usuallv have sufficient money to futfir their basic needs are reffered as

(1)



w
Q:17 Those Public Sector Undertaking which are making profits should be privatized. Do You agrr with

this view? Why? (3)

Q:18 ls there any relationship between unemployment and poverty? Explain (3)

Q:19 what objectives did British intend to achieve through their policies of infrastructure development

in India?

What is Green Revolution? Why was it implemented?

(4)

(4)Q:20

Q:21

Q:22

Q:23

Q:24 Define the terms:
(a) Outsourcing

(b) Devaluation of currency

(c) Disinvestment
(d) Churning poor

Which concept of povefi helps to assess the level of inequality in the country? How? (4)

Which were the common goals of five years framed by government at the time of initiating five

year plans (6)

lllustrate the difference between rural and urban poverty. ls it correct to say that poverty has

shifted from rural to urban areas? Use the trend in poverty ratio to support your answer (6)

(6)

(

(


